TER H A R
i f*m%f ) ﬁ7 HATE T ER
R 5 fin 5 D 4 S T e WAMTE 2O a1 =
1 2 3 1 5 6 1F] 24 34# *meT% (@En&) P T AR H HE 8HTT$
Bl |B2| B3| B4 | B5 | B6
Bl [27—nfd| B4 | B5 | B6 | Ol O O |2E2xr—1%dék (2, 3) 1| 4&
Bl | B2 B3| B4 B5| B6
EHE | c2 | c3 | cal|cs | #&
Ewwm | c2lcalcalcs [ #EBELO|O| O 2| =
w | c2 |l c3 | calcs | #&
D1 | D2 | D3| D4 | D5 | D56 O3FEE T LS NN G
Di|D2|D3|[Da|D5| B2 | OO O 31 H
D1 | D2| D3| D5 | D5 | &
E1 | E2 | E3 | E4 | E5
4 | E1 | E2 | E3 | E4 | E5 O101 0O 41 A
E1 | E2 | E3 | E4 | E5
OFEb 0 H=E
5 &
6 | 7k
Al|A2| A3 | A4 | A5 | D6 OFEb v H=E
Al | A2 A3 A4 A5 ]| B3 S
Al |l A2 A3 A4 A5 | BE
Bl | B2 | B3| B4 | B5]| B6
lIB1|B2|B3|B4|B5 B | OO O 8 | &
Bl | B2 | B3| B4 B5]|B6
cz2|lc3|calcs | EdE ]| BE 5, 6 : ¥ CEFROMR
c2lcs|calcs |#EwE || OO O | 9| =
cz2lcs3lcalcs|E@E] B
D1 | D2 | D3| &% KIFERL3 : 20~14 : 20
10| K[ D1 | D2 | D3| &% KA OO O I &
D1 | D2 | D3| &%
D4 [D5 | E1 | E2 EE RS [T Lo [
11|4 | D4 | D5 | EL |E2 | REES | OO O 11| A
D4 | D5 | E1 | E2 TS
B
12 | + 12 Xk
B
13| H 13| /K
E3 [ E4 [ E5 | Wl | e [T I T H
14 A [E3 | B4 | E5 || f#F= | O|O| O WS DR 14| K
E:%a_c E% ng i 1%‘_§§é
RN RS = PREE RS . ERBAIT H
I L = e 12:20 4KBIRT
15| ¢ S | [ | 2 s b e 15| &
X R * S O 1O O lmipmnr a5 12:20~12:55 #8 ”
bl |Ealy [EGly [FElE | fRiE& R # B 13:05 F#&
16 | K [ |Eefs |Feiy iy | frdss | O | O O [FEsiksEn 14:00~ REEBVHS 16| +
iy |Eiy (PRI |EAE | ORGEF o R A
EES NN AT TR BA S
17| K [FElE | Bk 2= | B titE= | O| O O |v#ka 17| H
PERE | FERE | BeRE | £5 | REES
i [ E N IEA HeFEA
18 | & | 5 |[#KEX] AE X 18] A
B [ AE
OFEb 0 H=E
19| + 19| X
20| H 20| /K
OFEb 0 H=E
21| H D H 21| &
O FE DY #E B
22 | &k 22| &
23 | 7k 23| +
OFEb v H=E
24 | K 24| H
25| & 25| A
Iz
26 | - 26 | k |#ES
FRET A b
271 H 27| K
OFEb 0 H=E
281 H 28 | AR | SEEREET NS LRI
G
ODFEb Y #H=
29 | ‘k 29 | 4 | SEEZRET NS LERE
G
30 | /K 30 +
ODFEb Y #H=
31| K 31| H
REHED OFEDYHE9:00~11:00)  HF - LFREHIRH T
4 H 54 6 A 7 A O FED Y #=E(15:50~16:50)  mh5H e
e 11 20 21 14 [ 69
2 4 15 19 21 14 [ 69
3 £ 15 20 21 14 [ 70




